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Algebra 2 - End of Course Review

1. Simplify: v—49 '-], ]
i

3. Simplify: (5)( 7i)

2
362 = |- 35|
5. Find all possible roots of:&x/2=\/—/1;;

~
7. Simplify: —3a + 4b +<5a + 3b) — 8a

l"lkocu""Yb}

9. Factor completely: 2x* — 16x + 30
2(x*-2x +18)
[20-3(x-9)

11. Factor Completely: 16x* — 36

(4x +O)(x—b)

13. Solve: 0 = x* + 64
e

15. Factor Completely: 3x2 + 15x + 12

B[+ Ex )
) 2 (e Dt |

2. Simplify: v100 M

4. Simplify: 3i(7i + 4)
VAIRES PX
|- 21+

6. Find all the possible roots of: x? + 13 =4

| 7 13 -13
I*‘: Al ‘

¥ [

8. Slmphfy —6m? —m?3 + 8n? + 8m?

] m>+2m” +%mx

10 Factor completely: 4x% + 4x — 4@
! (x +x-|2
l 9+ Hx-3)

12. Factor Completely: 3x% — 48

C)(x -\@
3 (xeteb)x =)
14. Solve: 0 = 2x* + 50
R e o
2

16. Factor Completely: 3x2 — 21x + 1@

i 3*-xt b
21, }500” Q(’“S]
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17. How many of each type of solution (rational, irrational, and lmaglnary) does each of these equations

ave? O \ 7\ OV
" (x —3x +@x—27> | 3?232225—41x‘fr1%t j
X% -2) +B(x-3) T) 1 4 -y 43@
s @4 ‘J) "’7 2‘ 140
4\6‘ g
(X hx %5 a3 5%\5 - s rQ;D ) 5

’]m ) 2 OGNany 5&? > -3y R0=

18. A theatre has determined that their per-item profit, P, can be modeled by the function:
P(x) = —2x? + 45x, where x is the ticket price. What is the optimal ticket price and maximum profit
that the theatre will make per item?

:’22; 3%7 wff_\ )Jﬁuz%!é“’“’bgfbmal price

S S\ g ep e (1126 = 3? 572 | I"-’ {
Pias) = ~2n2s) sl <) = ;253{,15*'\{?(&@
19. Given: f(x)=3;‘x’21 whatisf(-3)? _ 3(-2)-| =9+ 7o -5

207 % 7 187 9

For #20-23, use the following: f(x) = 3x> —7x—10, g(x) = —2x—7 and h(x) =2x%+5

20. Find (f — g)(x) 21. Find (f + 9)(%)__
(32 -"1x ’“ID)%“ TZK *“7) (3x% = Ix "“ID>+ C"*mef'i)
I -Bx -3 2% -9 x »)"”7}

22. Find (ho g)(x) _
2 (‘254”732 +45
2+ 22 +L{CD 5

B+ Blx +9245 = Lgx‘2+5(gy + )@91\

24. Use synthetic division to determine if (x — 4) is a factor of f(x) = —x* + 2x3 + 14x? — 30x + 24.

4] - 2 4 30 29
\({c) (x LB S cxﬁ\c{o\f o f@c}!

23. Write the inverse function of __J_,_,______._—-——-——-

AV -\
e

2
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2 L b e
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25. Use synthetic division to determine if (x + 5) is a factor of f(x) = x* + 2x* — 14x — 3.

221 I A & B .
5} o -5 18 =B @@‘Q @&ch&%@r)

T

26. Find all roots of: 3x3 +2x* —3x -2 =0
% (3 +2) - | (Zxt2) =0
N
(x+ D ~D)(Rx+2)=0
x="*1 %
) 3
27. Find all roots of: 14x°> — 35x“ —4x+10 =0
T2k -9) -2 (20 76) 0
(’b(z‘ ~ 2)(73( “%3 =0

";,§. fzf—
2.) J‘?

28. a. Simplify: 3/ 54x°%y10 29. Simplify: 4V48a4C12
54 5 B af 43 H 3 4’
g o . N \ R &
7 Y ) 5% \,& N ZK\/) . )Z ol 3

: |
~od
A\
3 3
30. Simplify and state the domain restrictions.

x2-3x-18 _ (=B )(x+3) I S 2 S
a. x2—-7x+6 - Ck(@(\s(~') b. 2¢3-324 Z)(LXZ"(">

[X+3 , XF ) PaD nd | _(x10)

RS 2pF D) 7| 2 (x4
x#++40
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31. Robin Banks is riding a ski lift that tops out at 11,700 feet above sea level. The base of the lift is
9700 feet above sea level. It carries Robin up at 250 feet per minute. How long will it take Robin
to reach the top?

| : HOC
700 -9700 = 2000 ][\t 200

250

= |Zmin

32. Dr. E. Ville has a dentist practice that is open for no more than 8 hours each day. His
receptionist, Louise E. Anna, schedules appointments, allowing % hour for a cleaning and 1 hour
to fill a cavity. Write an inequality to represent the number of cleanings, ¢, and the number of
fillings, f, that Dr. E. Vilie can do in one day. fé“ ’F

05c+f <%

L(ﬁﬁ/’ﬁ‘@
DF'(“”LS:’

33. What is the y-coordinate in the solution of the following system of equations?

6x + 3y =3 {DLMD *“3(5) :i

+ 7x—=3y=-16 ’\\(5)
Bx =15 ' —

X == 3=
=

34, Solve fort S =5r%t 35. Solve forx: |[4x +2| =6

52’ Or® Hyt2 = (o 4+><%Z 4@
= “{x:
t Oc”

36. Graph the system of inequalities
{y <5x-—3
y=zx+1
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37. Graph the syste inequalities : , N Ay
, 1 s
{ . P \x \..‘;4';‘ 3

i

_ % Q\‘\
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38. Write an equation to represent the
transformations of the absolute value
graph shown.

39. Write an equation to represent the
transformations of the parabola.

| i(&-{)i?

o\ e

&

foo= “lwk—:’;‘ + ﬁ()() = (54*431'5

40. Solve forx: vx—-5=7 41, Solveforg: 5+ Vva—7=6
‘x;o“[‘f q_ﬁ S

S 1'§“' '!OL,_' :l atg

»lxt‘fﬂl a-"1=

+7 )

42. Find the sqLutions and identify any extraneous solutions.

a.Q/3——Q= x —3)% b. 9+Vb=9=b, |
3ox = xlox 44 AP |b=9,10
3k K3 om- b

D=x*-Ex+ b b9 = b*-1%b +%I
0> (x -B)(erD) b ™ b

| , 0=b*~Ab +9D
=6 f@?ﬁ 0= (lo-a)b-I0)
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6 1 4 6k—-1 k+2
43, Solve for a: +—-= 44. Solve fork: 1 = — 4+ —
a’+a  a a?+a k k
e arl 4 Ko_bkel Re2
s - T oo — o m——
afo40) a(cwh a(a+() SN [ K
o=+ K=l +hr
' ~ - ‘K = j k‘k ‘ )
o= 73 ] =
— 1 (o= | |
45, Identify whether the graph of the parabola opens up/down and has a max/min. Find the equation for
the axis of symmetry and the vertex.
a. fx)=x+5)?%-2 b. f(x)=—(x+ 2)?
() flu’\ S up C)Pe,fv\% CU:MJM
e 6 A hos oo Mox
\f&(%-)ﬁ ("3 ;0 2>
oot X =-5

Y’éﬁr&ex”« (”:,2 /CD
-5 A0S x=-7

46. Write the equation of each graph.

A r{\‘
7" 4+ .
\i /
i
G / Nl
« \ [l p -
EIE RN v 6l 8 x EIEIENE \ : x
¥ : /{, : [z
N 2j; - \\;
m et BESEREAS
N - LYy L Yobin
?‘ Y N ¥ 2.
(\Cx\} *:':(X“““”D ~l F(@ = TX FL
. _ _ ‘ 2x% +4x-6 .
, 47. identify the zeros, vertical and horizontal asymptotes, and domain of: f(x) :——5———7——-1—(—)—
- X +7x+
2excs2 X=\ X=73
VAL x="95, X=72
HA - 3‘:2

= 2(:F+2% ~3)

(x +5)x+2)
MDCNY\&E Yy = 2(_\7‘ - DCX + %>
(xA)(+2)

X +72,79
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48. What is the cost per mile (signified by the

i ONE-DAY CAR RENTAL
solid line) of renting a car in the graph below? ' HE R B

35267 o
J0O -0 E -
o (O)2€>
{1y SREEE
- - o
{ & a0 1800 0 UEG N 3R

THstance Driven fin milest

49. Which of the following has a negative slope?

-2 -4
-1 -2

0 O

1 2

2 4

50. State the domain and the range of the function, f(x) = —3x +

Ron Vertex
Dow?;n . 55\‘ s

51. Given: f(x) = x*+5 and g(x) = 2x + 3. Find f(g(x).

2A+2) + 2
{{x 4—l>2x’3l45 )4x +[2x +li/

52. Given{zx) = %x — 5, find f1(x).
9 [P0
4(xr5)

53. Use the formula: A = P(1 + %)nt to find the amount of money an account will have if you started

CO 3) - 0pensS d@wv\a

with $5000 and it earns 3.2% interest and it is compounded semiannually for 15 years.

/_\ 0000(1 DBL?;D

3 204973

oS
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has 1 solution, a maximum but no minimum, a negative

54. Which graph has the following properties

leading coefficient, and an even degree?

16

ydb

30

'S 4

30

55. Write in logarithmic form: 37 = 2187

"919

(@332\%7 =]

57. Evaluate: log; ;91-.

3

X

.X_

|

e

-2

w ]

10

-
o

10

56. Evavluate: log, 1024. }IC‘?&\ “:321’/

4" = (024 [C‘;;’s x

58. Solve: log25 = log 5x — log 10

l@s 2= 103 %

6= K
S 2

X =950
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59. Which graph shown below has a higher value at x = 3?

vy | Y4
[ e B B 0

v

ST — 0 510 1045 - 70

10—

S
[z

L ST g3 0 510

60. Solve: log 25 = logx + logx

25=x"
x= 95

62. Simplify: (—2a~2b%)(7a*b™3)







